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Math Year 2
Term3 Review pack2
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a. Solve the following word problems, write the

number sentence below:

Zara makes 48 cakes. She has 30 cherries
to put on top of the cakes. How many
cakes do not have a cherry on top?

There are 40 buttons in a box. Children
need 5 buttons each to make a card.

How many children can make a card?

Today my horse ate 7 apples. | will give him
double that number tomorrow. How many
apples will he have?

There are 33 people on the bus. Twenty
maore get on. How many people are on the
bus now?

One robot needs 5 batteries. How many
batteries do you need for 6 robots?

Arun collects 39 dinosaurs. Seven of them
are brown. How many are not brown?
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b. Answer the following:
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147 - =42 2.
3.8- =3 4
5.95- =94 6
7. 74 -2 = 8

c. Find the missing numbers:
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e. Complete the following table:
Moke Count Part-Whole Model Complete
0 G
There are 3 tens.
1 35
[ @ o There are 5 ones.
1
.
There are tens.
]
(17 There are ones.
7
. There are tens.
[
[ @ . There are Ones.
[
&
There are tens.
(7
(] There are ____ ones.
(7
o
There are tens.
(1
(7 There are ones.
0O
0o
There are tens.
s
(71 (1] There are ones.
s
6
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. How much water is there in each jug?:

ml

g. Label the following below each picture:

nearly full

empty

nearly empty

half full
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Fill in the blanks with correct number

65

 tens

coneas

34

tens

ones

56

tens
ones

67

tens
coneas

89

tens
ones

92

tens
cones

85

tens
ones

70

tens
ones

62

12
45

27
80

99
48

39

tens
ones

tens
ones

tens
ones

tens
anes

tens

ones

tens
ones

tens
ones

tens
ones
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h. Solve the following equations:

9 x2= 90+10=___(8=x5=___ |20+10=__|5=10=___
B+2=__ |10+2=__ [W0=x5=__ | 2=x10=__ |60+10=__
W=10=__ |4=x10=__ [ 4x5 =__ |bx2=___ 8 =10 =__
6+2=__ |20+2=__ |1W0=2=__ |10=x1=__ |10=8=___
h+2=_ |b+2=__ |5x(-= 3xh5= 1 =5=__
30+2=___ |10+2=___ 2+2=__ |15+5=__ |3=10=
- Izo_zz_ ....... ﬁ !5= ...................... Exm= .................... 5 xﬁ= ......................
|
25+5=__ |18+2=__ |Txj§= 5+:5=_ |50+5=__




